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���ى             


ط 06(:ا�
	��� ا�ول��    (  


اء ه� ا���� ا��� 
�
�� ا�زوت 78%: �����
 �ه� ا���زات ا�������� ا�آ���! (N2) ، 21% ��ز ��� ��ز 
(O2)،  

  .(Ar) ��ز ا�ر�
ن 1% 
   .p = 1,013 x 105 Pa   ;  t = 20 0C: ا��
اء .-,
ذ *�( ا�)'&�! 

  .أ��1 آ��
 .�دة آ3 ��ز �2 وا1( �0' .! ا��
اء .1
 .أ��1 آ0�
 وا1( �0' .! ا��
اء .2

 . (آ� *(د .
9ت ا��
اء �2 وا1( �0' .! ا��
اء .3�
وا1( .
ل .! ا��
اء >
ا2@ وا1( .
ل .! <=>;�ت ا���زات ا���

A�.( 
 �<'C0��D وي��F اء
��� 
��
   .�D29 g/ mol! أن ا��0�
 ا��

 .آ� *(د <=>;�ت ا���ز �2 وا1( �0' .! ا��
اء .4
HIJ< :R = 8,31j/molk0  ،  N = 14 g/mol ، O = 16 g/mol ، Ar = 40 g/mol  

NA= 6,02 x 1023 mol-1 

  
��

ط 08(:ا�
	��� ا����(  


د>
م Lر>( ا�
��� 9
��. 'M��ُ )Na+ + Cl- (  ��
 FC0 = 25 .10 -3 mol.L-1'آ�=O ا��
�� ا0D9(اDذاPD Qو ذ� ، 
 

د>
م ا�m ��Lآ0�Lر ا�
A��* 3 �2 دورق و  .! ا���ء ا��RM� ، 'IC ا����
ل ا���NaCl �2 50cm3L .! آ�

 
�*

 A0��T�� U�C�σ ا����Tس ا�����T ز��ل <��J0X�D )Conductimètre . (  A��* 3Lل ا���
����� Y�M�ُ50Cm3 

 3L��2 ، ا���ء �2 آ3 .'ة !. 
2
 �UZ ا�����[PD ة .'ات)* 
D'�0ا� )�J�ُ ، ا��(>(ة A0��T�� U�C� و 'ICأ,'ى .! ا���ء ا��
  .  >�`3 ��1 ا����
ل ا��_JD YZ( إ]�2
 ا���ء H�* ]�1 �V <(ول ا��X��Cت ا���0

300  250  200  150    100        50  V( Cm3)          

0.48  0.56  0.70  0.96  1.40     2.82   σ ( mS /Cm)     
               25   C ( mol ./ L ).10-3   
 1 – 3��J0ا� R. Oh*اآ�3 ا��(ول أ  .  

  ار�X ا�����H ا�����i ا���`– 2 ThJ�� 3 :=ƒ ( C ) σ�X��. �Xر ��X ل��J0X�D ، 
<'0����. 
Tور H�*  . Q���< ذا�.

  اA>�0�0X .! ا�����H ا���kF ؟

<�A ا���iن - 3F 3.�J. ��1؟>.�ذا , أ ��� �<=�2 3`�    

 ه� – 4 ��J. 
IC� )�* م

د>Lر ا�

ل آ����� 
�*

 ا����Tا��� n2.50 =  إذا آ�� mS/Cm σ . O=آ�'F ن
�< ��2    

 C  !�0C<'ID)
����iوا� 
�D؟)ا����  
5  –  O=آ�'F م

د>Lر ا�

ل آ����� 
�*

 ا����T3-5.10أ��1 ا���mol/L  3Lا��� 
*����  و�Tرن هOo ا����0
 .R ا����0

 
D'�0ا� 
IXا
D .  

ن C°25*��� أن *�( ا�(ر<�F   : m S .m2/mol   λCl
 = +λNa                 و      7.63 = -

5.01 mS  .m2 /.mol        

د>
م – 6 Lر ا�

 آ0�
 آ���T k0�0Xا m ر

 �M�F �2' ا����
ل ا0D9(ا�� ، *��� أن در<
 ��Cوة .�q آ���J0ا��� 


د>
م Lا�NaCl  ه� ��Lا�p = 90 %  
         
 �IJ<Na=23g/mol.   Cl=35.5g/mol       

                                                   ����� ا�����(1: ا��  )أ�
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ط6: (ا�
	��� ا���� (  
  

��ء در�� ��ار����M=350g	�ي ���� ��اري ��� آ	�� ��ره� �� ا�  Ø=16co .  ا�!� ه������ و��ا���� ا���ار�� 
C=80j/°c.   

���� �)�� ��'� آ	�	&� %-1�  .°Ø'=-18c و در�� ��ار�&� �m=50g+* (  ا
��� ؟ ���� أن �)�� ا�.�'� �-,&� آ�&� �-        .�  .� ه  در�� ��ارة ��ازن ا

�����7 (  ا��6ال -2��;و�� و �&� %:9 در�� ا���ارة ، -1- �-� در�� ا���ارة ا <=����� �)�� ��'� أ+�ى ��� ?'@% 
�A �-,&� آ�&� �'�.�  (->�C �-� ��وث ا�	�ازن ا���اري أن �)�� ا

  ة ا�	�ازن ا�.��� ؟ ��ه  در�� ��ار-       أ
�	G!'� دون ا%,&�ر �� هEF ا�!)�� -      ب�   ا��I ا�H	�� ا

 �'�	H���ء: ��)� ا���� ا���ار�� ا�� c0 c=4180j/kg 
                      �'�.��                 c0 c=2090j/kg 

       �'�.�  /g    LF=335j                                 ا���� ا�H	�K �'%,&�ر ا
  


� وا��E� واA B �@C'@? ا<=*( :    ;:�9F�  ��Eا� �G H�A ت*G*�@وا�  I��JA %KL M��
�� L*� �(�9)�ة  ��دي HN ا��������J
� ا���% وأA�آ�ا ا�- (  
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